
1 : 42

ENT-59

	 M.A./ M.Sc. Entrance Examination 2024

Geography
Subject Code : 58720

Total No. of Pages : 42Seat 
No.

1. 	 Who introduced the principals of soil geography?

	 a) 	 Davis		  b) Dokuchaev

	 c) 	 Wegener		  d) Penck

	 Imbrbn¡H$s H$moUr ‘¥Xm ^yJmobemómMr VËdo ‘m§S>br?

	 A) So>ìhrg		  ~) S>moH$Mmoìh

	 H$) doJZa		  S>) n|H$

Day and Date : Monday, 29-07-2024	 Total Marks : 100
Time : 10.30 am to 12.00 pm

Instructions : 
1)	 All questions are compulsory.
2) 	 Each question carries 1 mark.
3) 	� Answers should be marked in the given OMR answer sheet by darkening the 

appropriate option.
4) 	 Follow the instructions given on OMR sheet.
5) 	 Rough work shall be done on the sheet provided at the end of question paper.
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2. 	 Which of the following is an active aspect in soil formation by Hans Jenny?

	 a) Climate		  b) Parent Rock

	 c) Time		  d) Organic Matter

	 hg O|Zr `m§Zr ‘¥Xm {Z{‘©VrÀ`m H$moUË`m KQ>H$mg {H«$`merb KQ>H$ åhUyZ AmoiIbo Amho?

	 A)	 hdm‘mZ		  ~) OZH$ IS>H$

	 H$) H$mbmdYr		  S>) g|{Ð` nXmW©

3. 	 Which of the following soil types is known as azoral soil

	 a) Desert soil		  b) Red soil

	 c) Prairie soil		  d) Alluvial soil

	 Imbrbn¡H$s H$moUË`m àH$maMr ‘¥Xm A{d^mJr` ‘wXm åhUyZ AmoiIbr OmVo?

	 A) dmid§Q>r ‘¥Xm		  ~) bmb ‘¥Xm

	 H$) àoAar ‘¥Xm		  S>) JmimMr ‘¥Xm

4. 	 Which element of soil formation define mineral content of soil?

	 a) 	 Parent material	 b) Relief

	 c)	 Relief		  d) Biotic

	 ‘¥Xm{Z{‘©VrMm H$moUVm KQ>H$ ‘¥XoVrb I{ZOÐì`o {Z{üV H$aVmo?

	 A)	 OZH$ IS>H$		  ~) ^yn¥ð> aMZm

	 H$) hdm‘mZ		  S>) O¡{dH$ KQ>H$



3 : 42

ENT-59
5. 	 Desert soil fall into which of the following group of soil?

	 a) 	 Azonal Soil		  b) Intrazonal Soil

	 c)	 Zonal Soil		  d) None of these

	 dmid§Q>r ‘¥Xm Imbrbn¡H$s H$moUË`m ‘¥Xm JQ>mV ‘moS>Vo?

	 A) A{d^mJr` ‘¥Xm		  H$) {d^mJr` ‘¥Xm

	 ~) Am§Va{d^mJr` ‘¥Xm 		 S>) `mn¡H$s Zmhr

6. 	 Which of the following ocean current is hot ocean current?

	 a) 	 Bengwela		  b)  Gulf Stream

	 c) 	 Labrodor		  d)  Qurile

	 Imbrbn¡H$s H$moUVm CîU gmJar àdmh Amho?

	 A) ~|½dobm		  ~) Jë’$ ñQ´r‘

	 H$) b~«mS>moa		  S>) Š`mBb

7. 	 In which unit the salinity of the ocean is measured?

	 a) 	 Percentage		  b) Dine 

	 c)  Thousands		  d) Milibar

	 gmJaObmMr jmaVm H$moUË`m n[a‘mUmV ‘moObr OmVo…?

	 A) eoH$S>m		  ~) S>mBZ

	 H$) Xa hOmar		  S>) {‘{b~ma
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8. 	 Which is the largest ocean in the world"

	 a) 	 Indian Ocean		  b) Atlantic Ocean

	 c) 	 Pacific Ocean		  d) Arctic Ocean

	 OJmVrb gdm©V ‘moR>m ‘hmgmJa H$moUVm?

	 A) 	qhXr ‘hmgmJa		  ~) AQ>bm§{Q>H$ ‘hmgmJa

	 H$) 	n¡{g{’$H$ ‘hmgmJa		 S>) AmpŠQ>§H$ ‘hmgmJa

9. 	� Which of the following factor is associated with daily range of oceanic 
temperature.	

	 a) 	 Sky Condition		 b) Deep Sea Water

	 c) 	 Ocean Deposits		  d) Sea Plain

	 Imbrbn¡H$s H$moUVm KQ>H$ gmJar ObmÀ`m X¡{ZH$ Vmn‘mZ H$joer g§~§{YV Amho?

	 A) AmH$memMr pñWVr		  ~) Imob g‘wÐmVrb Ob

	 H$) 	gmJar {Zjon		  S>) gmJar ‘¡XmZ

10. 	 Which of the following current is a part of the Atlantic Ocean circulation?

	 a) Labrador		  b) Kuroshio

	 c) California		  d) Peru

	 Imbrb n¡H$s H$moUVm g‘wÐàdmh AQ>bm§{Q>H$ ‘hmgmJamVrb Amho?

	 A) 	b~amoS>a 		  ~) Hw$amoerAmo

	 H$) 	H°${b’$mo{Z©`m		  S>) noé
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11. 	 In which industry is the manganese most utilized

	 a) Electronic equipment	 b) Plastic

	 c) Glassware		  d) Steel Production.

	 ‘°JZrO YmVyMm gdm©{YH$ dmna H$moUË`m CÚmoJmV Ho$bm OmVmo?

	 A) {dÚwV CnH$aUo		  ~) ßbmpñQ>H$

	 H$) H$mM gm‘mZ		  S>) nmobmX {Z{‘©Vr

12. 	 Why are tise cold deserts in India not affected by the monsonn

	 a) 	 The cold deserts in India have not summers and extremely cold winters.

	 b) 	 The cold deserts in India lie in the rain shadow region of the Himalayas

	 c) 	 Air is very thin in these cold deserts.

	 d)	 The cold deserts in India are at a very high altitude.

	 ^maVmVrb W§S> dmid§Q>m§da ‘mÝgyZMm n[aUm‘ H$m hmoV Zmhr

	 A) 	^maVmVrb W§S> dmid§Q>mV CÝhmim ZgVmo Am{U AË`§V W§S> {hdmim AgVmo.

	 ~) 	 ^maVmVrb W§S> dmid§Q> {h‘mb`mÀ`m nO©Ý`N>m`oÀ`m àXoemV AmhoV

	 H$) 	`m W§S> dmid§Q>mV hdm Iyn nmVi AgVo.

	 S>) 	 ^maVmVrb W§S> dmid§Q> Iyn C§Mmda AmhoV
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13. 	 'Meena' Tribe belongs to which state?

	 a) Gujarat 		  b) Rajasthan 

	 c) Orissa		  d) Assam

	 ‘rZm hr Am{Xdmgr O‘mV H$moUË`m amÁ`mV AmT>iVo?

	 A) JwOamV		  ~) amOñWmZ

	 H$) Amo[agm		  S) Amgm‘

14.	 ............... is the leading producer state of Salt in Incia.

	 a) Gujarat 		  b) Tamil Nadu 

	 c) Karnataka 		  d) Andara Pradesh

	 ...............ho ^maVmVrb AJ«oga ‘rR> CËnmXH$ amÁ` hmo`.

	 A) JwOamV 		  ~) Vm{‘iZmSy> 

	 H$) H$Zm©Q>H$		  S>) AmY« àXoe

15.	 Industrial locations are influenced by the availability of.........

	 a) Market 		  b) Labour

	 c) Raw materials		  d) All of the above 

	 Am¡Úmo{JH$ ñWmZm§da  ................... À`m CnbãYVoMm à^md nS>Vmo.

	 A) ~mOma		  ~) l‘ 

	 H$) H$ƒm ‘mb		  S>) darb gd©
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16. 	 Durg-Bastar-Chandrapur belt lies in ............... and .................. states.

	 a) 	 Rajasthan and Uttar Pradesh

	 b ) 	Chhattisgarh and Maharashtra

	 c) 	 Gujarat and MadlıyaPradeslı

	 d) 	 Madhya Pradesh and Odisha

	 XwJ©-~ñVa-M§Ðnya nÅ>m ............. Am{U ............ amÁ`m‘Ü`o Amho.

	 A) amOñWmZ Am{U CÎma àXoe

	 ~) N>ÎmrgJS> Am{U ‘hmamï´>

	 H$) JwOamV Am{U ‘Ü` àXoe

	 S>) ‘Ü` àXoe Am{U Amo[agm

17. 	� In June 1992, more than 100 heads of state met in...................... in Brazil for 
the first laterrational Earth Summit.

	 a) Rio de Janeiro		  b) São Paulo

	 c) Brasilia		  d) Curitiba

	� n{hë`m Am§Vaamï´>r` n¥Ïdr {eIa n[afXogmR>r OyZ 1992 ‘Ü`o 100 hÿZ A{YH$ amï´>à‘wI 

~«mPrb‘Ü`o ................ `oWo ^oQ>bo.

	 A) [aAmo {X OmZoJo		  ~) gmAmo nmCbmo

	 H$) ~«m{P{b`m		  S>) Š`w[a{Q>~m
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18.	 The ...................... river originates from Amarkantak. Madhya Pradesh.

	 a) Narmada 		  b) Mahi

	 c) Tapt		  d) Godavari

	 .............. ZXr A‘aH§$Q>H$, ‘Ü` àXoe `oWyZ CJ‘ nmdVo.

	 A) Z‘©Xm		  ~) ‘hr

	 H$) Vmnr		  S>) JmoXmdar

19.	 The concept of sustainable development was presented in which report?

	 a) Brutland		  b) Geneva

	 c) Frankfurt		  d) None of these

	 emœV {dH$mgmMr g§H$ënZm H$moUË`m AhdmbmV ‘m§S>Ê`mV Ambr?

	 A) ~«yQ>b§S>		  ~) {O{Zìhm

	 H$) ’«$m§H$’w$Q>©		  S>) `mn¡H$s Zmhr

20. 	 Which energy is pollution free?

	 a) Thermal power 	 b) Solar energy

	 c) Nuclear power		  d) None of these

	 H$moUVr D$Om© àXwfU {da{hV Amho?

	 A) Am¡pîUH$ D$Om©		  ~) gm¡aD$Om©

	 H$) AUwD$Om©		  S>) `mn¡H$s Zmhr
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21 . 	� Which of the following irrigation methods is used for sustainable use of 

water in cultivation?

	 a) Lift irrigation 		  b) Drip irrigation 

	 c) Flood irrigation		 d) All of these

	 nmÊ`mÀ`m eoVr‘Yrb emœV dmnamgmR>r Imbrbn¡H$s H$moUVr ObqgMZ nÕV dmnaVmV?

	 A) Cngm ObqgMZ 		  ~) {R>~H$ qgMZ 

	 H$) nmQ>mZo nmUr XoUo		  S>) `mn¡H$s gd©

22. 	 What measures are taken for the sustainable development of land resources?

	 a) Use of chemical fertilizers

	 b) Use of pesticides

	 c) Use of compost and vermicompost

	 d) Tilling parallel to slope

	 ^y-gmYZg§nÎmrÀ`m emœV {dH$mgmgmR>r H$moUVm Cnm` Ho$bm OmVmo?

	 A) amgm`{ZH$ IVm§Mm dmna

	 ~) H$sQ>H$ZmeH$m§Mm dmna

	 H$) H§$nmoï> d Jm§Sy>i IVm§Mm dmna

	 S>) CVmamÀ`m g‘m§Va ‘emJV
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23 . 	 Which of the following is known as renewable energy source

	 a) Mineral oil 		  b) Coal

	 c) Natural gas 		  d) Wind power

	 Imbrbn¡H$s H$moUVo Anma§n[aH$ D$Om© gmYZ åhUyZ AmoiIbo OmVo?

	 A) I{ZO Vob		  ~) XJS>r H$moigm 

	 H$) Z¡g{J©H$ dm`y		  S>) ndZ COm©

24. 	 In which of the following periods did lift irrigation begin"

	 a) Stone Age		

	 b) Pre Historic Period

	 c) Greek and Roman period

	 d) History start period

	 Imbrbn¡H$s H$moUË`m H$mbI§S>mV Cngm qgMZmMr gwédmV Pmbr

	 A) Aí‘`wJ	

	 ~) B{Vhmgnyd© H$mbI§S>

	 H$) J«rH$ d amo‘Z H$mbI§S>	

	 S>) B{Vhmg àma§^ H$mbI§S>
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25. 	� Which of the following farming methods is called Jirayat Farming in India"

	 a) Intensive farming	

	 b) Dry land farming

	 c) Extensive grain farming 	

	 d) Mixed farming

	 Imbrbn¡H$s H$moUË`m eoVr nÕVrg ^maVmV "{Oam`V eoVr' Ago åhUVmV?

	 A) gImob eoVr		   

	 ~) H$moaS>dmhÿ eoVr

	 H$) {dñV¥V YmÝ` eoVr		

	 S>) g§{‘l eoVr

26. 	 The word agriculture in agricultural geography comes from wirich language?

	 a) Arabic		  b) Latin

	 c) Hindi		  d) None of these 

	 H¥$fr ^yJmobmVrb H¥$fr (agriculture) hm eãX H$moUË`m ^mfoVyZ Ambobm Amho

	 A) Aa~r		  ~) b°{Q>Z

	 H$) qhXr		  S>) `mn¡H$s Zmhr
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27. 	 Agricultural geography is a sub-branch of which branch of human geography?

	 a) 	 Physical geography	

	  b) Economic geograpiny

	 c)	 Meteorology		

	 d) None of these

	 H¥$fr ^yJmob hr ‘mZdr ^yJmobmÀ`m H$moUË`m emIoMr CnemIm Amho?

	 A) àmH¥${VH$ ^yJmob		

	 ~) Am{W©H$ ^yJmob

	 H$) hdm‘mZemó		

	 S>) `mn¡H$s Zmhr

28. 	 Which of the following is not the agricultural problem?

	 a) 	 Drip irrigation	

	 b) Soil erosion

	 c) 	 Land fragmentation 	

	 d) Insufficient capiral

	 Imbrb n¡H$s H$moUVr H¥$fr g‘ñ`m Zmhr?

	 A) {R>~H$ qgMZ	

	 ~) O{‘ZrMr Yyn

	 H$) O{‘ZrMo VwH$S>rH$aU	

	 S>) Anwao ^m§S>db
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29. 	� Committee for Tourism Development was formed in 1945 under whose 

chairmanship?

	 a)	 John Chappeli		 b) Sir John Mithoe

	 c)	 Sir John Sergeant	 d) None of these

	 1945 ‘Ü`o H$moUmÀ`m AÜ`jVoImbr n`©Q>Z {dH$mgmgmR>r g{‘Vr JR>Z H$aÊ`mV Ambr?

	 A) Om°Z Mmnb		  ~) ga Om°Z {‘Wy

	 H$) ga Om°Z gmO|Q>		  S>) `mn¡H$s Zmhr

30. 	 Which beach is called as the queen of beaches in Goa

	 a) Kolva		  b) Donapavla

	 c) Calangute		  d) Anjuma

	 H$moUË`m ~rM bm Jmoì`mVrb ~rM Mr amUr åhUVmV ?

	 A) 	H$mobdm		  ~) 	S>moZmnmdbm

	 H$) 	H$b§JwQ>		  S>) A§OwZm

31. 	 Gir National Park is located in which of the following states"

	 a)	 Maharashtra 		  b) Ciujarat

	 c)	 Goa 		  d) Tamil Nadu

	 Jra amï´>r` CÚmZ Imbrbn¡H$s H$moUË`m amÁ`mV Amho?

	 A) ‘hmamï´>		  ~) JwOamV

	 H$) Jmodm		  S>) V{‘iZmSy>
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32. 	 Which of the following is known as Queen of Hill Stuation?

	 a) 	 Ooty 		  b) Kodaikanal

	 c)	 Mahabaleshwar	 d) None of these

	 H$moUVo W§S> hdoMo {R>H$mU ŠdrZ Am°’$ {hb ñQ>oeZ åhUyZ AmoiIbo OmVo ?

	 A)	 CQ>r		  ~) H$moS>B©H°$Zb 

	 H$)	 ‘hm~ioída		  S>) `mn¡H$s Zmhr

33	 Which of the following lake is Salt Lake in Maharashtra?

	 a) 	 Chilka 		  b) Sambar

	 c) 	 Lamar 		  d) Dal

	 ‘hmamï´>mVrb Imè`m nmÊ`mMo gamoda H$moUVo ?

	 A) {MëH$m		  ~) gm§~a

	 H$) bmoUma		  S>) Xb

34. 	 Who postulated the "Concentric Zone Theory" of Morphology of town?

	 a)	 Hayat		  b)	 Barges

	 c)	 Haris		  d)	 Ulman

	 g‘H|$Ðr H${Q>~§Y {gÕm§V H$moUr ‘m§S>bm?

	 A) hmB©Q>		  ~) ~J}g

	 H$) h°[ag		  S) Cb‘Z
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35. 	 What is known as the central zone of city?

	 a)	 Residential 		

	 b)	 Tourism

	 c)	 Garden		

	 d)	 Commercial

	 ehamMm ‘Ü`dVu ^mJ H$moUVo joÌ åhUyZ AmoiIbo OmVo?

	 A) {Zdmgr		

	 ~) n`©Q>Z

	 H$) CÚmZo		

	 S>) ì`mnmar

36. 	 Which following measures is used to solve the arban problems?

	 a)	 Decentralization of industries 

	 b)	 Cacap availability of house

	 c)	 Ample supply of water

	 d)	 Centralization of industry

	 ZJaÀ`m g‘ñ`m gmoS>{dÊ`mgmR>r Imbrbn¡H$s H$moUVm Cnm` `moObm OmVmo?

	 A) CÚmoJY§ÚmMo {dH|$ÐrH$aU

	 ~) ñdñV XamV Kam§Mr CnbãYVm

	 H$)	 ^anya nmUr d {dOoMr gmo`

	 S>) CÚmoJY§Úm§Mo H|$ÐrH$aU
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37. 	 What is impact of population growth in cities or civic amenities?

	 a)	 Increase the stress	 b)	 Minimize the sinss

	 c)	 No change		  d)	 None of these

	 ehamVrb dmT>Ë`m bmoH$g§»`o‘wio ZmJar gw{dYm§da H$m` n[aUm‘ hmoVmo

	 A. 	VmU dmT>Vmo		  ~. 	 VmU H$‘r hmoVmo

	 H$. H$mhrM ’$aH$ Zmhr		  S>.	 `mn¡H$s Zmhr

38. 	 What is the major problem of urban settlement?

	 a)	 Development of city	

	 b)	 Literate population

	 c)	 Pure water supply	

	 d)	 Increase of Slums

	 ZmJar dñVrMr hr EH$ à‘wI g‘ñ`m Amho?

	 A. 	eham§Mm {dH$mg		

	 ~. 	 gmja bmoH$g§»`m

	 H$. 	ewÕ nmUrnwadR>m		

	 S>. 	 PmonS>nQ>çm§Mr dmT>
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39. 	� How much minimum percentage of people in the Non-agricultural 

occupation are necessary for conversion of rural area into town?

	 a)	 50		  b) 	 75

	 c)	 25		  d) 30

	� J«m‘rU ^mJmMo ZJamV énm§Va hmoÊ`mgmR>r {H$‘mZ {H$Vr Q>¸o$ bmoH$ H¥$frVa ì`dgm`mV Agmdo 

bmJVmV.

	 A) 	50		  ~) 	75

	 H$)$	25		  S>) 20

40. 	 Which of the following type of country have highest urbanization?

	 a) Developed		  b) Developing 

	 c) Underdeveloped	 d) All of the above

	 gdm©{YH$ ZmJarH$aU Imbrbn¡H$s H$moUË`m àH$maÀ`m XoemV hmoVo?

	 A) {dH${gV		  ~) {dH$gZerb

	 H$) A{dH${gV		  S>) darb gd©

41. 	 Which of the following is a major cause of population growth

	 a)	 High Birth rate	 b) 	 Low Death rate

	 c) 	 Migration		  d)	 All of the above

	 nwT>rbn¡H$s H$moUVo bmoH$g§»`m dmT>rMo à‘wI H$maU Amho?

	 A) OmñV OÝ‘Xa		  ~) H$‘r ‘¥Ë`wXa 

	 H$) ñWbm§Va		  S>) `mn¡H$s gd©
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42. 	 What is the population density of Maharashtra as per 2011 census?

	 a)	 250		  b)	 315

	 c)	 365		  d)	 204

	 gZ 2011 À`m OZJUZoZwgma ‘hmamï´>mÀ`m bmoH$g§»`oMr KZVm {H$Vr Amho?

	 A) 250		  ~) 315

	 H$) 365		  H$) 204

43. 	� Which district of Maharashtra has the least population density as per 2011 
census"

	 a) 	 Sindhudurg		

	 b)	 Gadchiroli

	 c) 	 Chandrapur		

	 d) 	 Dhule

	 gZ 2011 À`m OZJUZoZwgma ‘hmamï´>mÀ`m H$moUË`m {OëømV bmoH$g§»`oMr KZVm H$‘r Amho

	 A) {g§YwXÿJ©		

	 ~) JS>{Mamobr 

	 H$) M§Ðnwa		

	 S) Ywio
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44. 	 Which of the following is a physical factor affecting population distribution

	 a) Type of agriculture	 b) 	 Topography

	 c) Irrigation		  d) 	 Industries

	 Imbrbn¡H$s H$moUVm bmoH$g§»`m {dVaUmda n[aUm‘ H$aUmam àmH¥${VH$ KQ>H$ Amho!

	 A) eoVrMm àH$ma		  ~) ^yaMZm

	 H$) ObqgMZ 		  S>) CÚmoJY§Xo

45. 	� The lines which show the distribution of sclinity of sea water are 
caled..........................

	 a) 	 Isotherms		  b)	 Isohyets

	 c) 	 Isomaling		  d)	 Isobar

	 Á`m aofm§Zr gmJar ObmÀ`m jmaVoMo {dVaU Xe©{dbo OmVo Ë`m aofmZm H$m` åhUVmV.

	 A) g‘Vmn aofm		  ~) g‘nO©Ý` aofm

	 H$) g‘jma aofm		  S>) g‘^ma aofm

46. 	� Which concept describes the concentration of people in cities and urban 
areas?

	 a)	 Population distribution	 b)	 Population density

	 c) 	 Urban sprawl		  d)	 Urbanization

	 H$moUVr g§H$ënZm ehao Am{U ehar ^mJmVrb bmoH$m§À`m H|$ÐrH$aUmMo dU©Z H$aVo ?

	 A) 	bmoH$g§»`oMo {dVaU	 ~) 	bmoH$g§»`oMr KZVm

	 H$) 	ehar {~ñVma		  S>) 	eharH$aU
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47. 	 Optimum population refers to:

	 a) 	 The ideal number of people for a given area's resources

	 b) 	 The maximum number of people a region can support

	 c) 	 A population size below the carrying capacity

	 d) 	 A population size exceeding the carrying capacity

	 Bï>V‘ bmoH$g§»`m `mMm g§X^© XoVo…

	 A) 	{Xboë`m joÌmÀ`m g§gmYZm§gmR>r bmoH$m§Mr AmXe© g§»`m

	 ~) 	 EH$ àXoe {H$Vr bmoH$m§Zm g‘W©Z XoD$ eH$Vmo

	 H$) 	dhZ j‘Vonojm H$‘r bmoH$g§»`m

	 S>) 	 dhZ j‘Vonojm OmñV bmoH$g§»`m

48. 	� Which of the following regions is likely to have the highest population 
density?

	 a) 	 Desert regions	

	 b)	 Mountainous regions

	 c) 	 Coastal regions 	

	 d) 	 Polar regions

	 Imbrbn¡H$s H$moUË`m àXoemV bmoH$g§»`oMr KZVm gdm©{YH$ AgÊ`mMr eŠ`Vm Amho?

	 A)	 dmid§Q>r àXoe		

	 ~) 	 nd©Vr` àXoe

	 H$) 	{H$Zmar àXoe		

	 S>) 	 Y«wdr` àXoe
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49. 	 In which model lines, points and polygon are considered principal segments?

	 a)	 Vector Model		  b)	 Raster Model

	 c)	 Geographical Model	 d)	 None of these

	 H$moUË`m àVr‘mZmV aofm, q~Xy Am{U ~hþ^wO ho à‘wI I§S> ‘mZbo OmVmV?

	 A) g{Xe à{V‘mZ		  ~) Omir à{V‘mZ

	 H$) ^m¡Jmo{bH$ à{V‘mZ		  S>) `mn¡H$s Zmhr

50. 	� According to Karl Pearson's correlation coefficient, what is the correlation 
coefficient of perfectly negative variables?

	 a)	 20		  b)	 -1

	 c)	 -1		  d)	 None of these

	� H$mb© {nAg©ZÀ`m ghg§~§Y JwUm§H$mZwgma nyU© F$UmË‘H$ Mbm§Mm ghg§~§Y JwUm§H$ {H$Vr 
AgVmo?

	 A) 0		  ~) -1

	 H$) +1 		  S>) `mn¡H$s Zmhr

51. 	� To calculate the median, all the items of the data series have to be arranged 
in a/an ....................

	 a)	 Ascending order	 b)	 Descending order

	 c)	 'a' and 'b' both	 d)	 none of these

	 ‘Ü`Jm H$mT>Ê`mH$[aVm, g§»`m ‘m{bHo$Vrb gd© g§»`m H$em nÕVrZo ‘m§S>mì`m bmJVmV?

	 A) MT>Ë`m H«$‘mZo		  ~) CVaË`m H«$‘mZo

	 H$) 'A' d '~' XmoÝhr		  S>) `mn¡H$s Zmhr
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52. 	 Convert the Whole Circle Bearing 210' intequadrantal bearing.

	 a)	 South 30° West	

	 b)	 South 60° West

	 c)	 North 30° West	

	 d)	 Noth 60° West

	 210° nyU© dVw©i {XJm§emMo nmd {XJm§emV énm§Va H$am.

	 A. 	X{jU 30° n{ü‘	

	 ~. X{jU 60° n{ü‘

	 H$. 	CÎma 30° n{ü‘		

	 S>. 	 CÎma 60° n{ü‘

53. 	 Which of the following is an instrument used in Prismatic Compass Sarvey?

	 a)	 Norway Paper		

	 b)	 Alidade

	 c)	 Level bottle		

	 d)	 None of these

	 Imbrbn¡H$s H$moUVo CnH$aU bmobH$s` hmoH$m`§Ì gd}jUmV dmnabo OmVo?

	 A)	 Zm°d} nona		

	 ~)	 Xe©aoIr

	 H$) 	nmZgi		

	 S>) 	 `mn¡H$s Zmhr
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54. 	 'Cycle of Erosion' concept was put forth by

	 a)	 Mackinder 		  b)	 Semple

	 c)	 Davis		  D)	 Heiner

	 jaU MH«$ g§H$ënZm H$moUr ‘m§S>br?

	 A) _°påH§$S>a		  ~) goånb

	 H$) So>pìhg		  S>) hoQ²>Za

55 	 In 1830 'Royal Geographical society' was established in......................

	 a) 	 America		  b) 	 Britain

	 c)	 France 		  d) 	 Germany

	 1830 ‘Ü`o am°`b {OAmoJ«m{’$H$b gmogm`Q>r Mr ñWmnZm H$moR>o H$aÊ`mV Ambr

	 A) A‘o[aH$m		  ~) {~«Q>Z

	 H$) ’«$m§g		  S>) O‘©Zr

56 . 	 'Heart land theory' was put forth by?

	 a) 	 Herbertson		  b) 	 Semple

	 c)	  Hartshorne 		  d)	 Mackinder

	 "öX`ñWb {gÕm§V' H$moUr ‘m§S>bm

	 A) ha~Q²>©gZ		  ~) goånb

	 H$) hmQ>©emoZ§		  S>) å`mqH$S>a
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57. 	 Which one of the following is the father of dualism in Geography?

	 a) 	 Varenius		  b) 	 Aristotle 

	 c)	 Hartshorne		  d) 	 Eratosthenes

	 Imbrbn¡H$s H$moU ^yJmobmVrb Û¡VdmXmMo OZH$ AmhoV ?

	 A) ìhoao{ZAg		  ~) A[añQ>moQ>b

	 H$) hmQ>©emoZ©		  S>) BamQ>moñWoZrg

58. 	� Which one of the following was said that. 'Man is a product of the earth 
surface'

	 a) 	 Semple		  b) 	 Aristotle

	 c) 	 Sour 		  c) 	 None of these

	 "‘mZd hr n¥ÏdrÀ`m n¥ð>^mJmMr {Z{‘©Vr Amho' Ago H$moU åhUmbo?

	 A) goånb		  ~) A[añQ>moQ>b

	 H$) gmodoa		  S>) `mn¡H$s Zmhr

59. 	� Which one of the following was said that, "Nature is not more than an 
adviser

	 a) 	 Davis 		  b) 	 Jean Brunhes 

	 c) 	 Blache 		  d)	 Ratzel

	 "{ZgJ© hm g„mJmamnojm A{YH$ Zmhr Ago H$moUr åhQ>bo?

	 A) So>pìhg		  ~) OrZ ~«wÝg

	 H$) ãbme		  S>) amQ²>Pob
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60. 	� Which of the following settlement type is on the bank of road, river and 

canal?

	 a) 	 Circular		  b) 	 Lincar

	 c) 	 Triangular		  d) 	 Square

	 Imbrbn¡H$s H$moUË`m àH$maÀ`m dgmhVr ZXr, añVo d H$mbì`mÀ`m {H$Zmè`mda AgVmV

	 A) JmobmH¥$Vr		  ~) aofmH¥$Vr

	 H$) {ÌH$moUmH¥$Vr		  S>) Mm¡H$moZmH¥$Vr

61. 	 Which of the following state will not henefit from Sardar Sarovar Project?

	 a) Maharashtra		  b) 	 Gujarat

	 c) Madhya Pardesh	 d) 	 Kamataka

	 gaXma gamoda àH$ënmMm Imbrbn¡H$s H$moUË`m amÁ`mg ’$m`Xm hmoUma Zmhr

	 A) ‘hmamï´>		  ~) JwOamV

	 H$) ‘Ü` àXoe		  S>) H$Zm©Q>H$

62. 	 Who said that "Who controls the Rimland, rules Eurosta''?

	 a)	 Mackinder		  b) 	 Spykman

	 c) 	 Aristotle		  d)	 Blache

	 Omo [a‘b±S> da A{YH$ma JmOdob Vmo `wao{e`m da amÁ` H$aob Ago H$moUr åhQ>bo

	 A) ‘°H$moS>a		  ~) ñnmB©H$‘Z

	 H$) A°amoñQ>m°Q>b 		  S>) ãbme
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63	  �Which of the following is not included in New World as per Heartland 

theory?

	 a) 	 Nerth America	 b) 	 Islands

	 c) 	 South America	 d)	 Europe

	 öX`ñWb {gÕm§VmV Imbrbn¡H$s H$moUmMm ZdrZ OJmV g‘mdoe Zmhr?

	 A) CÎma A‘o[aH$m		  ~) ~oQ>o

	 H$) X{jU A‘o[aH$m		  S>) `wamon

64.	  What is the name of boundary between India and Pakistan?

	 a)	 Radcliff		  b)	 McMohan

	 c) 	 Siachin		  d) 	 None of these

	 ^maV d nm{H$ñVmZ `m§À`m Xaå`mZMr gr‘m H$moUË`m ZmdmZo AmoiIbr OmVo

	 A) aoS>pŠb’$		  ~) ‘oH$‘mohZ

	 H$) {g`mMrZ		  S) `mn¡H$s Zmhr

65. 	 Which of the following is a buffer state"

	 a) 	 China 		  b) 	 Sri lanka

	 c) 	 Nepal		  d) 	 Pakisthan

	 Imbrbn¡H$s H$moUVo A§VñW qH$dm AS>ga amÁ` Amho?

	 A) MrZ 		  ~) lrb§H$m

	 H$) Zonmi		  S>) nmH$sñVmZ
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66. 	 Who put forth the concept of a functional approach in Political Geography!

	 a) 	 Hartshone		  b)	 Fitzerland

	 c)	 Pounds		  d)	 Jackson

	 amOH$s` ^yJmobmVrb H$m`m©Ë‘H$ Ñï>rH$moZmMr g§H$ënZm H$moUr ‘m§S>br?

	 A) hmQ>©emoZ		  ~) {’$VbªS>

	 H$) nmD$§S>g		  S>) O°H$gZ

67 . 	� Which of the following element is not essential for the formation of the 
State?

	 a) 	 Population		  b)	 Territory

	 c)	 Religion		  d)	 Government

	 amÁ`mÀ`m {Z{‘©Vrg Imbrbn¡H$s H$moUVm KQ>H$ Amdí`H$ Zmhr?

	 A) bmoH$g§»`m		  ~) ^yàXoe

	 H$) Y‘©		  S>) emgZ g§ñWm

68. 	 Who used the term geography first time in 3rd century BC"

	 a) 	 Strabo		  b) 	 Eratosthenes

	 c) 	 Homer		  d) 	 Thales

	 B.g. nyd© {Vgè`m eVH$mV H$moUr ^yJmob `m eãXmMm dmna gd©àW‘ Ho$bm

	 A) ñQ´°~mo		  ~) BaoQ>moñWo{Zg

	 H$) hmo‘a		  S>) Woëg
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69. 	 Which is the outermost layer of the earth?

	 a) 	 Atmosphere		  b) 	 Hydrosphere

	 c) 	 Lithosphere		  d) 	 Biosphere

	 n¥ÏdrÀ`m gdm©V ~mø AmdaUmbm H$m` åhUVmV

	 A) dmVmdaU		  ~) ObmdaU

	 H$) {ebmdaU		  S>) OrdmdaU

70. 	� In which type of weathering, mineral properties of rocks do not change 
after weathering?

	 a) 	 Physical Weathering

	 b) 	 Chemical Weathering

	 c) 	 Biological Weathering

	 d)	 None of these

	� IS>H$mÀ`m {dXmaUmZ§Va Ë`m§À`m ‘yi I{ZO JwUY‘m©V ~Xb hmoV ZmhrV Ë`m {dXmaUmg H$m` 
åhUVmV…

	 A) `m§{ÌH$ {dXmaU

	 ~) amgm`{ZH$ {dXmaU

	 H$) O¡{dH$ {dXmaU	

	 S>) `mn¡H$s Zmhr
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71. 	 Which of the following is the lightest gas in the atmosphere?

	 a) 	 Hydrogen		  b)	 Oxygen

	 c)	 Nitrogen		  d)	 Ozone

	 Imbrbn¡H$s dmVmdaUmVrb gdm©V hbH$m dm`y H$moUVm?

	 A) hm`S´moOZ		  ~) Am°pŠgOZ

	 H$) Zm`Q´moOZ		  S>) AmoPmoZ

72. 	 Which of the following is studied in Physical Geography/

	 a) Landforms 		  b) 	 Atmosphere 

	 c) Oceans 		  d) 	 All of the above

	 àmH¥${VH$ ^yJmobmV Imbrbn¡H$s H$emMm Aä`mg Ho$bm OmVmo?

	 A) ^yê$n		  ~) dmVmdaU

	 H$) ‘hmgmJa		  S>) darbn¡H$s gd©

73. 	 What is the main function of rural settlement

	 a) 	 Agriculture		  b) 	 Jobs

	 c) 	 Trade		  d)	 todustries

	 J«m‘rU dgmhVtMo à‘wI H$m`© H$moUVo?

	 A) eoVr 		  ~) ZmoH$ar

	 H$) ì`mnma		  S>) CÚmoJY§Xo
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74. 	 Which type of migration mainly occurs in India?

	 a) 	 Rural to Rural		 b) 	 Rural to Urban

	 c) 	 Civil to Civil 		  d) 	 Urban to Rural

	 ^maVmV àm‘w»`mZo H$moUË`m àH$maMo ñWbm§Va AmT>iVo

	 A) J«m‘rU Vo J«m‘rU		  ~) J«m‘rU Vo ZmJar

	 H$) ZmJar Vo ZmJar		  S>) ZmJar Vo J«m‘rU

75. 	 What is the main function of rural settlements in coastal areas?

	 a) 	 Fishing		  b) 	 Agriculture	

	 c)	 Trade		  d) 	 Communication

	 gmJa{H$Zmè`mdarb J«m‘rU dgmhVtMo ‘w»` H$m`© H$moUVo

	 A) ‘mgo‘mar		  ~) eoVr 

	 H$) ì`mnma		  S>) XiUdiU

76. 	 Which factors has importance in the study of leaman geography"

	 a) 	 Man and Environmen	 b) 	 Geantorphology

	 c) 	 Natural		  d) 	 Geological

	 ‘mZdr ^yJmobmÀ`m Aä`mgmV H$moUË`m KQ>H$m§Zm ‘hËdmMo ñWmZ Amho?

	 A) ‘mZd d {ZgJ©		  ~) ^yénr`

	 H$) Z¡g{J©H$		  S>) ^yJ^u`
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77. 	 In which regions dispersed settlement are found?

	 a) 	 Hilly 		  b)	 Fertile land 

	 c) 	 Plain areas 		  d) 	 None of these

	 H$moUË`m àXoemV {dIwaboë`m dgmhVr AmT>iVmV?

	 A) S>m|Jami		  ~) gwnrH$ O{‘Z

	 H$) ‘¡XmZr àXoe		  S>) `mn¡H$s Zmhr

78. 	� The ratio of the distance between any two points on the map to the actual 
distance between the same two points on the ground is called ......................

	 a) 	 Map Projection	 b)	 Map Scale

	 c)	 Linear Seale		  d)	 Conventional Signs

	� ZH$memdarb H$moUË`mhr XmoZ {~Xy ‘Yrb A§Va d Ë`mM XmoZ q~Xy ‘Yrb àË`j A{‘Zrdarb A§Va 
¶m§À`m JwUmoÎmambm H$m` åhUVmV?

	 A. ZH$mem àjonU		  ~. ZH$mem à‘mU 

	 H$ aofm à‘mU		  S>. gm§Ho${VH$ {MÝh

79. 	� Convert the fractional scale 1:60000 into verbal scale according to the 
metriemeasurentent system.

	 a)	 1 cm = 6 km 		  b)	 1 cm = 6 m

	 c)	 1 cm = 60m 		  d)	 1 cm = 600 m

	 1:60000 `m A§H$ à‘mUmMo ‘o{Q´H$ ‘mnZ nÕVrZwgma eãX à‘mUmV énm§Va H$am,

	 A. 1 go.‘r. 6 {H$.‘r		  ~. 1 go.‘r. 5 ‘r.

	 H$. 1 go.‘r. 60 ‘r.		  S>. 1 go.‘r. 600 ‘r.
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80. 	� What is the ideal length of a line taken while construction of linear scale 

according to the metric measurement system"

	 a)	 5 cm		  b)	 10 cm

	 c)	 15 cm		  d)	 20 cm

	 ‘o{Q´H$ ‘mnZ nÕVrZwgma aofm à‘mU V`ma H$aVmZm aofoMr AmXe© bm§~r {H$Vr KoVbr OmVo?

	 A. 5 g|. ‘r. 		  ~.	 10 g|. ‘r.

	 H$. 15 go. ‘r.		  S>.	 20 g|. ‘r.

81. 	� If the source of light is placed at the centre of the projecting globe, it is 
called a ______________

	 a) 	 Zenithal Gnomonic Projection

	 b)	 Zenithal Equatorial Projection

	 c)	 Zenithal Polar Projection

	 d)	 Zenithal Oblique Projection

	 I‘Ü` àjonUm‘Ü`o {Xdm n¥ÏdrJmobmÀ`m ‘Ü`^mJr Agë`mg Ë`m àjonUm§Zm H$m` åhUVmV?

	 A. 	I‘Ü` Jmo‘Ir àjonU

	 ~.	 I‘Ü` {dndÎmr` àjonU 

	 H$. 	I‘Ü` Y«wÌr` àjonU	

	 S>. 	 I‘Ü` {V`©H$ àjonU



33 : 42

ENT-59
82 . 	 The profiles drawn in the direction of river tlow are called ...................

	 a)	 Longitudinal Profile

	 b)	 Composite Profile

	 c)	 Superimposed Profile

	 d)	 Projected Profile

	 ZXrÀ`m àdmhmÀ`m {XeoZo H$mT>ë`m OmUmè`m nmM©aofm§Zm H$m` åhUVmV

	 A. AZwJm‘r nmœ©aofm 

	 ~. 	 g§`wº$ nmœ©aofm

	 H$. 	AÜ`mamo{nV nmœ©aofm 

	 S>.	 àjo{nV nmœ©aofm

83.	� Which slope is observed at the point where the contour lines are crown 
long distance spaced?

	 a)	 Gentle		  b)	 Steep 

	 c)	 Concave		  d)	 Convex

	 g‘moƒ aofm Xya A§Vamda H$mT>ë`m AgVrb Va Ë`m {R>H$mUr H$moUVm CVma AgVmo?

	 A. ‘§X		  ~.	 Vrd«

	 H$. A§Vd©H«$		  S>.	 ~{hd©H«$
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84. 	 How extend is half-inch maps?

	 a)	 10 latitude and 10 longitude

	 b)	 15' latitude and 15' longitude

	 c)	 30' latitude and 30' longitude

	 d)	 45' latitude and 45' longitude

	 AYm© B§Mr ZH$mem§Mm {dñVma {H$Vr AgVmo?

	 A… 10 Ajd¥Îm d 10 aoImd¥Îm	

	 ~. 15' Ajd¥Îm d 15' aoImd¥Îm

	 H$. 30' Ajd¥Îm d 30' aoImd¥Îm

	 S>. 45' Ajd¥Îm d 45' aoImd¥Îm

85. 	 In topographical maps, vegetations are represented by which colour?

	 a)	 Green		  b)	 Blue 

	 c)	 Red 		  d)	 Brown

	 ^yñWbXe©H$ ZH$mem§‘Ü`o ~ZñnVr H$moUË`m a§JmZo Xe©{dbo OmVmV?

	 A. 	 {hado		  ~.	 {Zù`m

	 H$. 	bmb		  S>. 	 Vn{H$ar
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86. 	 Which instrument is used to measure the wind speed?

	 a)	 Cup Anemometer 	 b)	 Barograph 

	 c)	 Thermograph 		 d)	 Wind Vane

	 dmè`mMm doJ ‘moOÊ`mgmR>r H$moUVo CnH$aU dmnabo OmVo?

	 A. dm`w doJ‘mnH$		  ~. dm`w^ma boIH$ 

	 H$.	 Vmn‘mZ boIH$ 		  S>. dm`w {XemXe©H$

87. 	 The isobaric pattem which have highest air pressure at the center is called

	 a)	 Cyclone		  b)	 Antieyelone

	 c)	 Secondary Cyclone	 d)	 Col

	� JmobmH$ma g‘^ma aofm§À`m ‘Ü`^mJr OmñV dm`w^ma Agob Va Ý`m g‘^ma aofm àménmg H$m` 
åhUVmV?

	 A. AmdV©		  ~. àË`mdV©

	 H$. 	Xþæ`_ AmdV©		  S>. H$mob

88. 	� Which of the following is an electronic device that processes information 
with the help of sequential instructions and produces accurate conclusions?

	 a) 	 Calculator		  b)	 Computer

	 c)	 Smartphone		  d)	  Television

	� H«$‘dma gyMZm§À`m gmhmæ`mZo {Xboë`m ‘m{hVrda à{H«$`m H$ê$Z AMyH$ {ZîH$f© XoUmao BboQ´m°{ZH$ 
`§Ì H$moUVo?

	 A. H°$ëŠ`wboQ>a		  ~.	 g§JUH$

	 H$.	 ñ‘mQ>©’$mZ		  S>. Q>o{bpìhOZ
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89. 	 Which of the following computers is also called Personal Computer (PC)

	 a)	 Supercomputer	

	 b)	 Main frame computer 

	 c)	 Mini computer	

	 d)	 Micro computer

	 Imbrbn¡H$s H$moUË`m g§JUH$mg ng©Zb g§JUH$ (PC) Ago XoIrb åhQ>bo OmVo?

	 A.	 ‘hmg§JUH$ 		

	 ~.	 ‘oZ ’«o$‘ g§JUH$

	 H$. 	 {‘Zr g§JUH$		

	 S>. 	 ‘m`H«$mo g§JUH$

90. 	� The art and seience for obtaining information about the entire earth surface 
we any object on the surface without establishing any physical contact with 
them is called .......................

	 a)	 G. I. S.		  b)	 G. P. S.

	 c)	 Remote Sensing	 d)	 Surveying

	� n¥ÏdrÀ`m g§nyU© n¥ð>^mJmMr qH$dm n¥ð>^mJmdarb EImÚm KQ>H$mMr ‘m{hVr Ë`m KQ>H$mÀ`m àË`j 
g§nH$m©V Z OmVm Xwê$ZM {‘i{dÊ`mMr H$bm d emó åhUOo H$m`?

	 A. Or. Am`. Eg.		  ~. Or. nr. Eg.

	 H$. gwXya g§doXZ		  S>. gd}jU
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91. 	 Aeroplane is a which kind of platform of the following"

	 a. 	 Geostationary Platforms	

	 b.	 Spaceborne Platforms

	 c. 	 Airborne Platforms

	 d. 	 None of these

	 {d‘mZ ho Imbrbn¡H$s H$moUË`m àH$maMo AmgZ (Platform) Amho?

	 A. ^ypñWa AmgZ 		

	 ~. A§V[aj AmgZ

	 H$. hdmB© AmgZ		

	 S>. `mn¡H$s Zmhr

92. 	� Which of the following is not a component of Geographic Information 
System?

	 a. 	 Statistical Data	

	 b.	 Solar Energy 

	 c. 	 People		

	 d. 	 Methods

	 Imbrbn¡H$s H$moUVm ^m¡Jmo{bH$ ‘m{hVr àUmbrMm KQ>H$ Zmhr?

	 A. gm§p»`H$s ‘m{hVr		

	 ~. gm¡a D$Om©

	 H$. bmoH$		

	 S>. nÕVr
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93. 	 Which is the longest railway line in India?

	 a. 	 Navi Delhi to Trivandrum	

	 b. 	 Navi Delhi to Bangalor

	 c. 	 Cochin to Guwalhati	

	 d. 	 Jammu to Kanyakumari

	 ^maVmVrb gdmªV bm~ aoëdo ‘mJ© H$moUVm?

	 A) Zdr {X„r Vo {Ìdo§Ð‘	

	 ~)	 Zdr {X„r Voo ~|Jbmoa

	 H$) 	H$moMrZ Vo JwdmhmQ>r	

	 S>)	 Oå‘y Vo H$Ý`mHw$‘mar

94. 	 Which transportation way helps for international trade?

	 a. 	 Roadways 		

	 b. 	 Waterways 

	 c. 	 Railways 		

	 d. 	 Airways

	 Am§Vaamï´>r` ì`mnma dmT>rgmR>r ‘XV H$aUmam dmhVyH$ ‘mJ© H$moUVm?

	 A.	 añVo ‘mJ©		

	 ~. 	 Ob‘mJ©

	 H$. 	 aoëdo ‘mJ©		

	 S>. 	 dm`y ‘mJ©
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95. 	 When the Suez Canal has been completed"

	 a.	 1859		  b. 	 1865

	 c.	 1869 		  d.	 1875

	 gwEP H$mbdm H$moUË`m dfu nyU© Pmbm?

	 A.	 1859		  ~. 	1865

	 H$. 	1869		  S>. 	 1875

96 . 	 Which canal connects Mediterranian Sea and Red Sea?

	 a. 	 Suez		  b. Bakingham

	 c.	 Panaria		  d. Kil

	 H$moUVm H$mbdm ^y‘Ü` g‘wÐ d Vm§~S>m g‘wÐmbm OmoS>Vmo?

	 A.	 gwEP		  ~. ~±{H$_h°_

	 H$. nZm‘m		  S>. H$sb

97. 	 Which canal connects Atlantic Ocean and Pacific Ocean?

	 a. 	 Bakingham		  b. 	 Panama

	 c. 	 Suez 		  d. 	 Kil

	 H$moUVm H$mbdm AQ>bm§{Q>H$ ‘hmgmJa d n°{g{’$H$ ‘hmgmJa OmoS>Vmo?

	 A.	 ~±{H$_h°_		  ~. nZm‘m

	 H$. gwEP		  S>. H$sb
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98. 	 Which element affects adversely on the Air iransport?

	 a.	 Forest		  b.	 Mountain

	 c.	 HigaHumicity		 d.	 Fog

	 hdmB© dmhVwH$sda n[aUm‘ H$aUmam à{VHy$b KQ>H$ H$moUVm?

	 A.	 O§Jb		  ~. nd©V

	 H$. OmñV AmÐ©Vm		  S>. YwHo$

99. 	 Which commodity has the highest import in India?

	 a.	 Food Grain		  b.	 Cotton Cloths

	 c.	 Tea		  d.	 Mineral Oil

	 ^maVmV gdm©V OmñV Am`mV H$moUË`m nXmWm©Mr Ho$br OmVo?

	 A. AÞYmÝ`		  ~. gwVr H$mnS>

	 H$. Mhm		  S>. I{ZO Vob

100 	 ..................... conceived up the idea for the Sardar Sarovar Dam

	 a.	 Jawaharlal Nehru	 b.	 Indira Gandhi

	 c.	 Medha Patkar		 d.	 Narendra Modi

	 gaXma gamodamMr g§H$ënZm ...............`m§Zr ‘m§S>br

	 A) Odmhabmb Zohê$		  ~) B§{Xam Jm§Yr

	 H$) ‘oYm nmQ>H$a		  S>) Za|Ð ‘moXr
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ROUGH  WORK
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